

A pairing-expansion example

Thursday, October 15, 2015 1:28 PM

$$\langle t^n, t^m \rangle = \frac{(t^n - 1)(t^m - 1)}{t - 1} \quad n, m \geq 1$$

$$\langle x^n, x^m \rangle = \begin{cases} 0 & (n=0) \vee (m=0) \\ x^{n+m-1} & \text{otherwise.} \end{cases}$$

Is there a homomorphic expansion?

try $t \rightarrow e^x$

$$\langle t^n, t^m \rangle \rightarrow \frac{(e^{nx} - 1)(e^{mx} - 1)}{e^x - 1}$$

↓

$$\begin{aligned} \langle e^{nx}, e^{mx} \rangle &= \langle e^{nx} - 1, e^{mx} - 1 \rangle = \\ &= \frac{(e^{nx} - 1)(e^{mx} - 1)}{e^x - 1} \end{aligned}$$

⇒

Perhaps there should be a "pairing vertex"
whose value is $\frac{e^x - 1}{x}$?